
Subject: Re: Pooled Cross sections 
Posted by Bridgette-DHS on Thu, 23 Jun 2016 19:18:57 GMT
View Forum Message <> Reply to Message

Following is a response from DHS Stata Specialist, Shireen Assaf:

When you compute the NW the magnitude of the weight is increased by a factor of 1000 because
of the CSW. It seems you need to divide the NW by 1000, i.e.: 

gen NW2=NW/1000 
tab ADM1_CODE [iw=NW2]

If you use svy with pweights the percentage estimates would not be affected by using NW or NW2
just the frequencies. So if you just report the percentages this shouldn't matter and no need to
divide the NW by 1000, just use svy and pweights. 

I would also suggest not using NW and simply use the weights for the appended data as follows. 

gen wt= v005/1000000

egen strata=group(v000 v025 ADM1_CODE)  // strata also includes the survey (identified by
v000) in the group command

egen v001r = group(v000 v001)  // cluster also includes the survey in the group command

svyset v001r [pw=wt], strata(strata) singleunit(centered)
svy: tab ADM1_CODE

You will notice that the percentages are quite close to those produced when using svy and NW or
NW2. 

svyset v001r [pw=NW], strata(strata) singleunit(centered)
svy: tab ADM1_CODE
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